Energy £low Test REVIEW ﬁ%ﬁ% *

1.) What is a producer? Give 1 example:
A DeODUCER 1S B (iviNG_ORGmISH CONTHIMING CH IoROpHY I+ CADABIE
OF LUSPNEG SONLIGHT TO MAKE 1TS OwN AGD FROM HATERT M8 ’Prtgw?zw
e SoVLd AGR. ey s TDUD, LeASS DALTREE e71C.

2.) What is a consumer? Give 1 example:
A ConsSumeris A iving REANSHM THAT TS GTHEE LvinG (RGANISMS .
€X: Cow, RABRIT, TIMEE, AMOOSE eqt.

3.) What is a decomposer? Give 1 example:
A Decomposet (1S a Living Olbpism THAT FEEDS on DEAT MATER]ALS
BRap G THEM Down & LETUENING THe mpaTEr AL T THE ANviCONMERTT.
Ex: Yunar, sremworMs, BALEUS,; CTL.

4. What is the difference between a car‘mvore and omnivore? Give 1 example of each:
Y jore  Yeprs “RBolH mesrd DTS HuM

ents ONLY 1 Bepes
MEAT

~3.) Where does all energy flow begin?/ﬂlig 5@?\%2 | (pg. 1 of notes)

6.) All living things need what to carry out their life functions? Eﬁ%@b‘v}( (pg. 1 of notes)

ATS
7)A CONSOM% is a living thing ThaT%as,ts other living things (pg. 2 of notes)
8)A__DE COMDOSER is a living thing that feeds on dead materials, breaking them down and

returning the materials to the environment. (pg. 2 of notes)

9.) What process allows plants to make food using sunlight, soil and air? PH 0703y THESIS (pg.2 of
notes)

10.) Create a food chain using: C M QML} ‘bfpw %&&W%)

C_\OVER. RAT Eox CovorE EALTH N OEM

Producer Consumer Consumer Consumer Decomposer




i1.) What materials from the environment are used by producers? (hw questions) (
YRODLCERS \SE ENERAY Flom THE SUN, Cﬁq FLOMTIHE ATE, WATER &
MINEZALS FroM THE SOTL.

12.) An ecosystem with many plants and animals will have a MORE complex food web.
Explain why:

MORE DIADTS & MOEZE AN MALS Wil Have Many Digfef ZioT
 TooD ODTIONS, RESOLTING N A MiEE CAMDIEY Foan wiA.

13.) An ecosystem with few plants and animals will have a (ESS complex food web.
Explain why:

Less PIANTS 2 [E3S AnimAaLS will HAVE VeRL LTTiE  FooD
OPTIONS, ResytliNG iN A 1855 (OMPIEX  FooD niR. v,

14.) A food pyramid shows how the amount of energy available changes at each step of the food chain.
Fill in the food pyramid below with LOW, MEDIUM, HIGH energy levels and then give an example of an
arganism at each level.

BEAL
|ow W,
(RABRT)

M entum

/ /\/% art (geass)

15.) Why does each step of the food pyramid have less food energy available than the one below it? (pg.
7 of notes)

@%ﬁ(ﬁ' STEPR, UiViNg ARANSMS USE A OT of THE ENEEAL {[
Yo THEIZ Neeps ResuolTing 1k 1ESS Fool ENERGY AvmiBBIE @
enct diehad (svel OF THE feols PR iy




